Grade 9 Ae:;demic 18/18

Integers and Bedmas

Student Numb OOOOOO Date .

L s+ =571 lossof 5, loss of 1-—> answer must be WV("
G) -17 b) -7 ){ 7 7IQ 17 )Q’ 60

2. -91454=-27 loss f ‘U} jﬂ\fn 071‘ g"f’ —> dnswer must he nﬁﬁfl/e
a) —145 b) -A7 @ 37 S 37 a1

s safosk $4-23 jcﬂ‘" ol %LF/ loss oF A3 — cthswer pust }ge}oasn'“v&
> 107 2K 61 ¢) 51 @ 61 e) 107

4. 42-29:1[ loss of 359 loss o7 Réf —> alsSwer musSt b2 rwja-f-[,/e_

oo far?.)e

@«-51 b) -5l o -3 b & ){ 61

51— (-9 -GBTH Jam g 85 gun df AF — answor st be posifive

X--m X-n ¢) 71 @u? e) 127

6. —50-(=19)= =20+ Yq |95 oF 50 1 3.91;';, oif 44 — answey must b2 sza‘hht

a) —09 @—1 xX1 351 > 99

=3

2-16-71= 43 =4 — answer must be pesifive

)( -32 ), S E c) 0 d) 8 @ 14

(5= - [0 =190 = =Ml - (0412 ) = =11 ~ARX — answr musT be reqative

-:_13 b) -11 c) -9 ¥ 9 Mo

0. -1sx6= __ Quowle wmust be negabive
—90 b) -21 c) -9 d) —3 -X!lﬂ

10. —18 x(-6)= 3 tve
(-6) onsw@  wust pe '190511Lr 430 sma| |
7{\3 ~ 108 X - x ~24 o 2 ms
t1. In which order should the operations + —, and + be inserted into the blanks of 78 ** 245 2 ¥ 6 =172

to make the statemen' rue?

2 =S x (Bl X (-1-3) ==4(]) =47

a) —44 b) -35 c) 29 @H e) 55

1. (48 =(-4)+2= 1252 =0

a) —d b) -G @ri ) 12 e) 29
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2=3)(-1) _ M _ _
4. S = .

—2 b) -1 c) -3 d) 1 e) 2

' 72
15. Evaluate: 3‘2—m+-1xb‘ ::3{;)_—%% + Y =87 - .94 *:0’20142"{‘:55

a) 223 b) 43 @ 53 d) 99 e) 198
16. Evaluate: {[4x3+14]+ 13} +4x7 = 3(AHP=I3LF+KE = R6~1B138 =423

a) 18 30 c) 32 d) 42 - e) 45

7. 6-2xP+24+6=_6 AN+ F =6-FFTF=-RFTF =%

-3 b) 10 ¢) 40 d) 28 e) 148

18.  Which of the following has the greatest value?

a) 2-8x(~4)-6 = 2% b) (2-8)x(-4)-6 :]fg @(2—s)x(—4—ﬁ}:é0

d) 2-(8x(-4)-6) = 4Q e) 2-(=4-6x8) = "SL}-
N e
Wortt Shawn bQIUW

2 — (- 4—6x8)
- 2-(—4-48)
= —Lrsa)
D A

- 54

I



Grade 9 Academic

Fractions and Decimals

Student Number: 000000 Date
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Grade 9 Academic
Pythagorean

Student Number: OOOO O O Date

1.  What is the length of the hypotenuse in AXYZ?7
a) 6 / ( )10 d) 12 e) 14 X ;
: \ ' g ' 8 Z
| engest g‘{dﬂ df a ri )"7"4‘”‘”" /€ (‘M‘ZSM(" g 05“& >
J Y e o 17 8

!"Ej)'f“ engle )y
2. For this triangle, which statement demonstrates the Pythagorean Property?

a) PstP=d’ b) s* ¥ =r? @r2+32=2

d) s=r+0 e) s=r+t g
oF }?;Lz;o#nafp

. —

3. In the figure, r = 16 and p = 30. What is the length of the hypotenuse of APQR?

a) 2; ; ?1:3) 32 @34 d) 46 e) .50
o T L e
,,(1/3:!(0-}30 G s fnse =3

LB. CLQ = gﬁ() + qoo

4. In the right triangle shown, what is the length of PQ?7

aj 2cm b} 4ecm c) 8cm d) 16ecm ¢) Vhldcm P
2
7%= PQ°+ 152 2 PQ = 389-235 tren
- a8
1 289=PQ* +235 c PE =6t L

;o PQ‘:M =& Q  lsem

5. In APQR. r =9 and ¢ = 41. Calculate the length of side p.
a) 32 @ 40 ¢) 43 d) 50 e) 53 P

%9;},&( P?— ) F}: AR ,- !

!‘; L“) :qa—+ at e !(JOD |
s 163) = 8] E—;} " Q:W“m :

-
=

6. ABCD is a rectangle. DC = 24 and BC = 10. What is the length of the hypotenuse in ABCD?
a) 17 b) 23 c) 26 d) 32 e} 196 A B

H\If’f.}\tenuie — BD A BD:": 616 IDI
BD*= 107+ 24 ‘B p_m:% !44
C B2 10045 S . S
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. What is the length, rounded to the nearest tenth, of the hypotenuse in A ACD 7
a) 3.5 @4,2 c) 6.1 d) 9.7 e) 10.6 ‘A B

AD*= A oD /7.5 AD =4
AP S LA =
} o AD TWZL}'% D

=
. Find the value of z to the nearest metre.
a) 46m b) 50m ¢) 64m @?Om e) 92m
90 m
s TR | @ “
{14 =" +90 i

S 1999k = 27 + B0
2 o = 129496300
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